
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.224 × ________ = 5224 4.032 × ________ = 403.2

9.823 × ________ = 982.3 2.581 × ________ = 25.81

3.741 × ________ = 37.41 9.016 × ________ = 901.6

8.125 × ________ = 81.25 5.054 × ________ = 50.54

9.166 × ________ = 91.66 7.192 × ________ = 71.92

4.296 × ________ = 4296 8.254 × ________ = 825.4

7.036 × ________ = 70.36 9.257 × ________ = 92.57

3.515 × ________ = 351.5 4.485 × ________ = 448.5

1.696 × ________ = 169.6 8.387 × ________ = 8387

1.394 × ________ = 139.4 6.27 × ________ = 6270
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